
Radicals 
 
Write each of the following in simplified radical form. 
 
1. 20  = 2 5   2. 72  = 2 3 2⋅   3. 98  = 7 2 7 2  
 
4. 3x  = x x   5. 5 2x y  = 2x y x   6. 7 5 11x y z  = 3 2 5x y z xyz  
 
7. 11 518 3 2x x x=   8. 4 7 2 375 5 3y z y z z=  9. 6 3153 3 17xy y x=  
 
10. 3 324 2 3=   11. 33 250 5 2=   12. 3 31080 2 3 5= ⋅  
 
13. 3 6 2x x=    14. 37 3 23 x y x y x=   15. 8 4 7 2 2 23 3x y z x yz x yz=  
 
16. 4 4405 3 5=   17. 4 430000 2 5 3= ⋅   18. 2 244 4275 3 5 19= ⋅ ⋅  
 
19. 44 x x=    20. 7 12 3 344 x y xy x=   21. 6 11 3 2 2 3 34 4x y z xy x y z=  
 
22. 5 25 288 2 3=   23. 5 51701 3 7=   24. 25 56144 2 2 3= ⋅  
 
25. 5 15 3x x=    26. 9 12 2 4 25 5x y xy x y=  27. 513 10 7 2 2 3 25 x y z x y z x z=  
 
28. 6 7 6192 2 3x x x=   29. 6 69 3 35832 3 2x x x=  30. 5 11 15 2 5 5 36 6x y z yz x y z=  
 
31. 7 7 74374 3 2x x=   32. 717 14 2 2 37 x y x y x=  33. 10 22 18 3 2 3 47 7x y z xy z x yz=  
 
34. 8 812 6 464 2x x x=   35. 11 21 2 3 58 8x y xy x y=  36. 17 20 33 2 2 4 1 48 8x y z x y z x y z=  
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